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~ First/Second Semester B.E. Degree Examinatieﬁ, Pec. 2015/32n.2818

Time: 3 hrs. Max. Marks:100
Note: 1. Answer any FIVE full questions, selecting atieast TWO questions from eackh part.
2. Answer all objective type guestions onl 8y on OMR skeet page 5 of the answer booklet.

g 3. Answer io objective type questions on sheets other than OMR sheet ﬂv’i’i’ 7no ; be valued.
8 FPART - A
g 1 a  Choose the correct answers for the following : (04 Marks)
é ATy 1)  The ohm’s law cannot be applied to
2 A) resistance B) inductance C) capacitance D) diode
o .- .
- 1) If 100 V is applied across a 200 V, 100 W bulb, the power consumed will be
ém‘ A) 100 W B)50 W C)25wW D) 125W
oo™ i) The self inductance ‘L’ is given by
S £
= A N NI . No : s
Tt A) Ne¢l B) — Cy — D) UN9
g o I
By : St S e : Wil : o
g ¥ v) Anemfof7.2 volis is induced in a coil of 6 mH. Then the rate of change of curren
5 o '
£ o is
o £ =
s 2 A} 12 A /sec B) 120 A/sec C) 1200 A/sec D) 12060 A/sec
S & b. State and explain Kirchoff’s laws. {00 markss
o 2 . + g I .
£ 8§ e A8 ohm resistor is in series with a parallel combination of two resistors 12 ohm and
25 6 ochm. If the current in the 6 ohm resistor is 5 A. Determine the { total power dissipated in the
ol = N
b circuit. {05 Marks)
g 2 d. A coil 12 current of 10 A in the coil gives rise to a magnetic flux of
2 = 1+ =
8 i)
=i 1) the e
-_‘ when th sec (85 Marks)
e
E &
s 2 a. Choose the correct 2
53 i) e load (circuit} is
e A} Ze10 B} uﬂﬁiy C) lagging D) leading
o o) 9 = o . . s
== )  Inductive reactance of a coil of inductance 0.6 H at 50 Hz is
g3 A) 185Q B)25Q C) 50Q D) 188.52 &
o v - . 5 . -
& iv)  The peak value of a sine wave is 400 V its average value is
o< A} 2548V B)282.6V C) 400V D) 565 V.
i 0. Define : i) Ampli tude i ) Frequency 1ii) form factor iv) power factor in AC circuits.
2 -’5 Mams)
- c. Define derive
g bisy




3 a. Choose the correct answers for the following : : (04 Mazris)
i) Ina3-—phase sysf:e n emf’s are
A) 30° apart B) 60° apart C) 90° apert D} 120° apart
ii)  The power taken by a 3 —phase load is given by

A) 3V cos¢ B)3VLI cosd C) 3Vi I sm¢ D)3V lsing
iii)  In a3 — phase delta system the relation between Vi and Vi is

Veh
A Vi=—E B)VL=+3-V5 © Vp=Vyu D) none of these - -
3 e = - £
D
v}  Ifthe two watt meters show equzal reading, power factor is
A) zero B) 0.5

& 1

b. Obtain the reiazic;nsu‘p between the phase an urrents in a
balanced star connected system. (08 Marks)
7 A balas f‘Pd delta connected load of (8 + j6) ohm per phase is supplied from a 3—phase,
"~ 440V, source. Find the line current, power factor, power per phase and total power.
(08 Marks) .
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4 a. Choose the correct answers for the following : (04 Marks)
i)  The dynamometer type watt meter is used to measure
A) cnly DC power B)on
C) both DC and AC power D)botha

active and reactive power
i)  In the energy meter constant speed of rotation of the disc is provided by
A) shunt magnet B) series magnet C) braking magnet D) none of these
ti1)  The ratio of minimum fising current/ current rating of'a fuse is
A) {using factor B) rated current

iv) A good earthing should prowde

O

ii) For ‘P’ pole lap wound armature of DC machine tne n,_”“ber of p

o
m! parallel paths are

A) iron lammations
C) both iron laminations and corper segments D) nonre of these

B) copper segments

A)20 A
b. A 4 f':;cfe. '5'“’*”!
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C} copper loss
alf full load is 200 W. T

B) 200 W C) 400 W
111} The secondary current of 100/10 V transformer is 10 A then pfin nary

B)2 A C) 10 A

2
swmer 18 worki at 2 e et e T
Ci{incy 1S WOr EKIng at its maximum effici oy With iron
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rmer. What is its importance?

= . c 2
the core. If the flux density has maximum value of 0.465 wh/rm’.

Choose nswers jor the following .

1) Asalient pole ueld constructi ermator having
4) low and medium speed _)) large speed
V) ‘7\,1-/ large 3pecd D) none of these

u-u, 1200 rpm a es at a frequency of

C) 50 Hz

C) 50

g
i

t answers for the following :
n motor works with

B) AC only C) both DC and AC
induction maotor at stand stiil is
B) one C} infinity
Synchronous speed of an ind 1 motor is given by

120P
C
) f

th at of NS
C) same as
hase induction motor.
=P

1

g PR B
emf frequency of an 3 — phase ind

uumber of cycles generated in a 4 — pole alternator in one revolution is

(64 Marks)
transfw*ner 1s connected to a 240 V, 50 Hz supply. The secondary ‘
winding has 1500 tuAus If the maximum value of the core flux is 0.00207 wb. Determine : -

1) the secondary induced emf ii) number of turns in the primary iii) cross — sectional area of

(06 Wlarks)

{04 Miarks)

X = F o &
D) none of these

ouble.

{65 Marks)

{ 06 Marks




